llvm sanity check interactions 0.log

Final error: 1.23%
Learning time: 1.34min
Hierarchical learning: Yes
Accuracy goal reached: No

allowOverfitting = true
benefitAbortThreshold = 0,1
errorAbortion = Avg
useRealtiveErrorForAbortion = true
minRealtiveError = 0,748186703653
hierarchicalBruteForce = True
candidateSizePenalty = 0
candidateMaxSize = 5
bruteForceCandidates = True

llvm sanity check interactions 1.log

Final error: 0.55%

Learning time: 0.46min
Hierarchical learning: Yes
Accuracy goal reached: Yes

allowOverfitting = true
benefitAbortThreshold = 0,1
errorAbortion = Avg
useRealtiveErrorForAbortion = true
minRealtiveError = 0,748186703653
hierarchicalBruteForce = True
candidateSizePenalty = 0
candidateMaxSize = 5
bruteForceCandidates = True

llvm sanity check interactions 2.log

Final error: 0.63%

Learning time: 0.34min
Hierarchical learning: Yes
Accuracy goal reached: Yes

allowOverfitting = true
benefitAbortThreshold = 0,1
errorAbortion = Avg
useRealtiveErrorForAbortion = true
minRealtiveError = 0,748186703653
hierarchicalBruteForce = True
candidateSizePenalty = 0
candidateMaxSize = 5
bruteForceCandidates = True

llvm sanity check interactions 3.log

Final error: 0%

Learning time: 0.34min
Hierarchical learning: Yes
Accuracy goal reached: Yes

allowOverfitting = true
benefitAbortThreshold = 0,1
errorAbortion = Avg
useRealtiveErrorForAbortion = true
minRealtiveError = 0,748186703653
hierarchicalBruteForce = True
candidateSizePenalty = 0
candidateMaxSize = 5
bruteForceCandidates = True

llvm sanity check interactions 4.log

Final error: 0%

Learning time: 0.35min
Hierarchical learning: Yes
Accuracy goal reached: Yes

allowOverfitting = true
benefitAbortThreshold = 0,1
errorAbortion = Avg
useRealtiveErrorForAbortion = true
minRealtiveError = 0,748186703653
hierarchicalBruteForce = True
candidateSizePenalty = 0
candidateMaxSize = 5
bruteForceCandidates = True

llvm sanity check interactions 5.log

Final error: 0%

Learning time: 0.34min
Hierarchical learning: Yes
Accuracy goal reached: Yes

allowOverfitting = true
benefitAbortThreshold = 0,1
errorAbortion = Avg
useRealtiveErrorForAbortion = true
minRealtiveError = 0,748186703653
hierarchicalBruteForce = True
candidateSizePenalty = 0
candidateMaxSize = 5
bruteForceCandidates = True
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